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~4 g, Explain the worker misperception model. How does it generate an E
upward sloping aggregate supply curve in the short run? What does it imply I:
about the procyclicality or countercyclicality of the real wage? (10 points) 13]
2. Consider a small open economy in the short run. When is monetary fﬁ.‘

policy more effective in affecting output -- when the exchange rate floats or
when the exchange rate is fixed? (10 points)

3. Assume you are an advisor to one of the presidential candidates who
is deeply worried about the rapidly expanding trade deficit and its effects on
potential voters. Your candidate has asked you to evaluale some policy

changes others have suggested that would reduce the trade deficit and mollify
potential (labor) voters. These are:

. To increase the marginal tax rate from 0.216 to 0.3 .
. To decrease government expenditures by 100.
. To reduce the money supply by 100,

To answer this query you have available to you the following elements to build
a macroeconomic model:

A consumption function: C = 789.225 + 0.75Y,- S0P (Y=Y - T, and P = the
price level)

A tax function: T=«170.15+0, 216Y

An investment function: 1=986.76 +0.1Y - 50i - 40P (i = interest rate, P = the
price level)

A money demand function: i=82.978 - 0.07M, (where M, = money demand)
An import function: M=328.26+0.1Y

An aggregate supply function: P =1.07516 + 0.0001Y

1 S S S

o M & R : 97 (4 %)

R AL ) B ¢ L SO TR e AR ] R SE A Ay {;&I o LWk e m) -

2.8 55 0 AL K b o R R

PO & BT R PR T R S R TR R L TR TR S = an e BN i




B8 KAt G TR BT G A v

You also know that government expenditures are expected to = $1,628.7
billion, exports are expected to = $996.3 billion, and the Central Bank is
expected to hold the money supply at $1,125.4 billion.

(1) Using these elements find the currently expected equilibrium levels of Y,
prices and interest rates by deriving an aggregate demand function and
combining it with the aggregate supply function. (15 points)

(2)  Once you have solved for the equilibrium income and the price level and
the interest rate, calculate the trade balance to determine the size of the trade
deficit, (5 points)

(3)  Calculate by how much each of three suggested policy changes (i.e.,
increasing the marginal tax rate from 0,216 to 0.3, decreasing government
expenditures by 100, and reducing the money supply by 100) would reduce the
trade deficit. Assuming that the sole policy goal is the reduction of the trade
deficit which policy would you therefore recommend? 1f this was not the only
goal, if, for example, your candidate was also concerned with issues of
unemployment, which policy might you recommend? (10 points)
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